Indian Abacus

Basics of using the bacus:

Abacus is a tool which can be used to calculate - Add, Subtract, Multiply & divide, apart from being able to do other
arithmetic functions and Brain activation. The user of Abacus, predominantly a student child would need to properly
positioned to operate the Abacus with the deft fingers of both the hands.

1. The student should position of abacus on the table on the table, four fingers distance away from the edge of the Table

> F 0, 0 0, 0, o0, o | o, 0 o, €

2. He/ she should sit upright and be seated front half of the chair space.

3. Abacus tool should be kept perpendicular to the nose of the student when the student looks at it from the top.
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Indian Abacus

If you are a Abacus and Pencil holding for Right Hand writer hold the pencil in your right hand and hold abacus in the
left hand when you do computation using Abacus.
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If you are a Abacus and Pencil holding for Left Hand writer you must hold Abacus and pencil both in left hand when you
do computation using abacus.
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After the computation is over, change the position of pencil from holding to writing position when you write the
answer.

Left Hand

Pencil Holding position -, Pencil writing Position

|

N

|
| -
[
- -
| -
l -

-

Right Hand

Pencil Holding position ‘ Pencil writing Position P

|

When the answer is written, immediately take the pencil from writing position to holding position (shooting position)
and proceed with your next computation.

Left Hand

| Pencil writing Position Pencil Holding position

'Rigrht "Hand

* Pencil writing Position P Pencil Holding position
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Indian Abacus

8. Pencil and abacus must be held in the respective hands until you finish the computation of the last sum using abacus.

9. When you do Mental Sums (do not hold abacus in your hand but always hold pencil in your hand) mental sums

without using abacus do not hold abacus in your hand but always hold pencil in your hand.

10. While doing the abacus and book practice, student should always hold pencil in the hand.
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99999999999999999’{(

11. Clearing the Abacus is bringing the Abacus to Zero position - all the sliders of all the columns should be moved away

from the bar.
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12. Clear the abacus before you start the new sum by using short clearance short clearance or Long clearance

- - - - |
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Indian Abacus

Operation of Abacus for Addition:

When the slider/s moves towards the Bar it assigns the value, it is for plus operation.

Plus (+) Operation

Indian Abacus™  Plus Operation | Thig picture displays two unit pointer of the 9th column, the first unit pointer column
represents zero position. The second unit pointer column displays slider movements
S gy l towards the bar for plus operation, which represents units value.
— —w
= =

When the slider/s moves away from the bar it does not assign any value, it is minus operation

Minus (-) Operation

LR TR Waadsiw ™
~ T .~ The first unit pointer column displays slider movements away from the bar for minus
- — ~—w operation, which represents zero value. The second unit pointer column displays zero
- position.
el
<
o

There are totally five unit pointers facing columns, but the student should use only the middle unit pointer (in the 9th
column) -

Home column

1
NN Y Y T T YT Yy
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Home column - to start doing the computation.
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Indian Abacus

Use right hand thumb to move lower slider in the 9th column towards the bar for plus (+) operation.

Indian Abacus”

plus operation
(+)

Use right hand index finger to move lower slider in the 9th column away from the bar for minus (-) operation.

Indian Abacus”

~ Minus Operation
(O]

0

100 ¢

Use only index finger to move the upper slider in the 9th column, towards and away from the bar for both plus and

minus (+ & -) operations.

Indian Abacus”

IR oy

o R N m— —

A%
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Indian Abacus

Left hand index finger must be used to move the lower slider in the 10th column for both operations i.e. +10 to +40 and
-10 to -40

Indian Abacus”
+10 +20 +30 +40
[ - = o
/’I ﬂ:o 1| - 1| -
i e | liD=t
' // // -
Indian Abacus”
-10 -20 -30 -40
/ E .| - e R
/l = ',/'1[0 ./'1 o l e
; / ™ / e
Y

Use left hand middle finger to move upper slider in the 10th column again for both minus and plus (+/-) operations.
i.e. +50 & -50

Indian Abacus”

+50 -50
/1':{”#] Jre<
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Indian Abacus

Operation of Abacus for Subtraction:

When the slider/s moves away from the bar it does not assign any value, it is for Minus (-) operation.

Use right hand index finger to move lower slider in the 9th column, away from the bar for minus (-) operation.
Use only index finger to move the upper slider in the 9th column, away from the bar for Minus (-) operations.

Left hand index finger must be used to move the lower slider away from the bar in the 10th column for -10 to -40.

Use left hand middle finger to move upper slider away from the bar in the 10th column for Minus (-) operation, i.e. -50.

Indian Abacus”

Minus Operation _50

[ &=

/g(;

Values of sliders from Column nos. 9 to 17 of Abacus

The 9th column facing unit pointer is considered as Unit / Home column. The upper slider represents the value as
Five (5) of this column and the lower slider represents the value as one (1) each. The sliders set in this column assigns
value “one ” each, together displays

Indian Abacus Addition Subtraction
Values for Slider Positions Add 1 Answer 1 Less 1 Answer 0

Lj‘i;, «[C - * Value 5
. . . . .
<« » Value 1 TT Ry L4 ﬂ
Lower « » Value 1 ,
sliders @« Value 1
=l » Value 1

9th Column «

Addition

Move lower slider towards the bar using right hand thumb in the 9th / home column as shown in the picture.

Subtraction

Move lower slider away from the bar using right hand index finger in the 9th / home column as shown in the picture. 1,
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Indian Abacus”

Values for Slider Positions '

Upper
Slﬁ)(;)e’ o E - » Value 5
.
s » Value 1
Lower w * Value 1
sliders < * Value 1
-« »> Value 1
Sth Column «
Addition

Addition

Add 2 Answer 2

B

Indian Abacus

Subtraction
Less 2 Answer 0

Move 2 lower sliders together towards the bar using right hand thumb in the 9th / home column as shown in the picture.

Subtraction

Move 2 lower sliders together away from the bar using right hand index finger in the 9th / home column as shown in the

picture.2,

Indian Abacus”

Values for Slider Positions

Upper
slider +

Lower
sliders

teet -

Sth Column «

Addition

* Value 5

» Value 1
» Value 1
» Value 1

* Value 1

Addition
Add 3 Answer 3

Subtraction
Less 3 Answer 0

L4

R

L4

Move 3 lower sliders together towards the bar using right hand thumb in the 9th / home column as shown in the picture.

Subtraction

Move 3 lower sliders together away from the bar using right hand index finger in the 9th / home column as shown in the

picture.3,

Indian Aba

Values for Slider Positions

| Upper

| sider * -
.
=

| Lower L4

| sliders e
L4

Sth Column «

Addition

» Value 5

» Value 1
* Value 1
* Value 1
* Value 1

Addition
Add 4 Answer 4
g
T =g
=
=4

Subtraction
Less 4 Answer 0
£
=l
- .
-l

Move 4 lower sliders together towards the bar using right hand thumb in the 9th / home column as shown in the picture.

Subtraction

Move 4 lower sliders together away from the bar using right hand index finger in the 9th / home column as shown in the

picture.4,
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Indian Abacus

Indian Abacus” X Addition Subtraction
Values for Slider Positions Add 5 Answer 5 Less § Answer 0
Upper .
sidger < [ -+ Value5 jl \ = Q]I.
. L . . | .
- * Value 1
Lower % < * Value 1
sliders @ »Value 1
<as * Value 1
Sth Column «
Addition

Move upper slider towards the bar using right hand index finger in the 9th / home column as shown in the picture.

Subtraction
Move upper slider away from the bar using right hand index finger in the 9th / home column as shown in the picture.5,

Indian Abacus” Addition Subtraction
Values for Slider Positions Add 6 Answer 6 Less 6 Answer 0
Upper B
sider + [ > ValeS5 Jl - - ]T
£ » Valve 1 ]T = o jl
Lower i L *> Value 1
siiders @ > Value 1
-« * Value 1
9th Column <
Addition

Move upper and a lower slider together towards the bar using right hand index finger and thumb together in the 9th /
home column as shown in the picture.

Subtraction
Move upper and lower slider together away from the bar using right hand index finger and thumb together in the 9th /

home column as shown in the picture.6,

Indian Abacus™ 0@ Addition Subtraction
Values for Slider Positions Add 7 Answer 7 Less 7 Answer 0
Upper
sider * L ™™ » Value 5 ]l ey Q]T
. Ll . . .
< * Value 1 = £
Lower 2 -« » Value 1 o Rz
sliders @« > Value 1
*® » Value 1
9th Column «
Addition

Move upper and 2 lower sliders together towards the bar using right hand index finger and thumb together in the 9th /

home column as shown in the picture.
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Indian Abacus

Subtraction
Move upper and 2 lower sliders together away from the bar using right hand index finger and thumb together in the 9th /

home column as shown in the picture.7,

Indian Abacus y Addition Subtraction
Values for Slider Positions Add 8 Answer 8 Less 8 Answer 0
Upper > - 2 N 2
sider L > Value 5 ] - - |
> » Value 1 1 ey =
Lower -« » Value 1 I L L4
sliders ey » Value 1 - > _J
= * Value 1

|9th Column «

Addition
Move upper and 3 lower sliders together towards the bar using right hand index finger and thumb together in the 9th /

home column as shown in the picture.

Subtraction
Move upper and 3 lower sliders together away from the bar using right hand index finger and thumb together in the 9th /

home column as shown in the picture.8,

Indian Abacus _ Addition Subtraction
Values for Slider Positions Add 9 Answer 9 Less 9 Answer 0

Uppe

i"é:,' «[ e »vaes ]1 e QJT
<> » Value 1 S L

Lower L4 » Value 1 T = Rz:4

sliders @« » Value 1 s pes |
= * Value 1 g -« |

Sth Column «

Addition
Move upper and 4 lower sliders together towards the bar using right hand index finger and thumb together in the 9th /

home column as shown in the picture.

Subtraction
Move upper and 4 lower sliders together away from the bar using right hand index finger and thumb together in the 9th /
home column as shown in the picture.9 as the case may be. When the slider/s moves away from the bar it loses its

value, it is for Minus (-) operation.
The 10th column on the left side gets increased with ten times more value. The upper slider represents the value as

Fifty (50) of this column and the lower slider represents the value as Ten (10) each. The slider moved towards the bar
on this column gets increased by the value as ten times more, example
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Indian Abacus

Indian Abacus” Addition Subtraction
N P Oe e Add 10 Answer 10 Less 10 Answer 0
Upper
Value S0 < =y G b4
. 3 - i :

Value 10 « s ’IE - " 1[ o
Value 10+ @ , Lower | ;
Value 10« = sliders |
Value 10 < e

10th Columne

Addition

Move 1 lower slider towards the bar using left hand index finger in the 10th column as shown in the picture.

Subtraction

Move 1 lower slider away from the bar using left hand index finger in the 10th column as shown in the picture.10,

Indian Abacus” : Addition Subtraction
Values for Slider Positions Add 20 Answer 20 Less 20 Answer 0

Value 50 <~ 4% S 9o

e J* siider

. . . . .

Value 10 «— 4 I o y l L=
Value 10« -4 , Hower | ! -« -«
Value 10 < = shders | '
Value 10 < E=g

10th Columne

Addition

Move 2 lower sliders together towards the bar using left hand index finger in the 10th column as shown in the picture.

Subtraction
Move 2 lower sliders together away from the bar using left hand index finger in the 10th column as shown in the
picture.20,
Indian Abacus” : Addition Subtraction
Values for Slider Positions Add 30 Answer 30 Less 30 Answer 0
Upper
Value 50 < el e stider
Valuo 10— 4 i E= L3
Value 10« = Lower | T -« l -«
Value 10+ 4 skdens | / < -
Value 10 < R4 :
10th Columne
Addition

Move 3 lower sliders together towards the bar using left hand index finger in the 10th column as shown in the picture.
Subtraction

Move 3 lower sliders together away from the bar using left hand index finger in the 10th column as shown in the
picture.30,
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Indian Abacus

Indian Abacus” Addition Subtraction
Values for Slider Positions Add 40 Answer 40 Less 40 Answer 0
Upper
Value 50 <« #% 1> siider
. . . . .

Value 10 < o o L=
Value 10+ @ , Lower | I L -«
Value 10+ 4 shoers | L= l a5
Value 10 < B3 R4 e

10th Columnae

Addition

Move 4 lower sliders together towards the bar using left hand index finger in the 10th column as shown in the picture.

Subtraction

Move 4 lower sliders together away from the bar using left hand index finger in the 10th column as shown in the
picture.40,

‘_l_l]_t_:lia__q Abacus” Addition Subtraction

Valm-zs f;r Slider Positions | Add 50 Answer 50 Less 50 Answer 0

Upper
Value 50 < J-* sider /i[ ot /{[Q -
7 ’
~ it

Value 10 <
Value 10«
Value 10 <
Value 10 <
10th Columne

Lower |
sliders |

tdee I

Addition

Move upper slider towards the bar using left hand middle finger in the 10th column as shown in the picture.

Subtraction

Move upper slider away from the bar using left hand middle finger in the 10th column as shown in the picture.50,

ndian Abacus : Addition Subtraction
Values for Slider Positions Add 60 Answsar 60 s AR
Upper

Value S0+ @B "]+ e 1[ = I[ PN

Value 10 < P IE o .1[ =

Value 10« , Lower |

Value 10« = sliders |

Value 10 < o

10th Columna

Addition

Move upper and a lower slider together towards the bar using left hand middle and index fingers together in the 10th
column as shown in the picture.

Subtraction

Move upper and a lower slider together away from the bar using left hand middle and index fingers together in the 10th
column as shown in the picture.60,
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Indian Abacus

Indian Abacus” Addition Subtraction
Values for Slider Positions Add 70 Answer 70 Less 70 Answer 0
Value 50 <« #% e l;;:dp; ‘ 1[ s I[ﬂ
. - . L - . .

Value 10+ 4 1 - |[ -

Value 10+ = Lower | - -«

Value 10— 4 siiders |

Value 10 < o

10th Column«

Addition

Move upper and 2 lower sliders together towards the bar using left hand middle and index fingers together in the 10th
column as shown in the picture.

Subtraction

Move upper and 2 lower sliders together away from the bar using left hand middle and index fingers together in the 10th
column as shown in the picture.70,

Indian Abacus” Addition Subtraction
Values for Slider Positions Add 80 Answer 80 Less 80 Answer 0

Value 50 <

e

. - . .

Upper |
slhider | 1[

3+ =~
R4 -«
}’Lowev | I =4 1 x>
<>

.

Value 10 <
Value 10«
Value 10«
Value 10 <
10th Columne

sliders | -

tdet I

Addition

Move upper and 3 lower sliders together towards the bar using left hand middle and index fingers together in the 10th
column as shown in the picture.

Subtraction

Move upper and 3 lower sliders together away from the bar using left hand middle and index fingers together in the 10th
column as shown in the picture.80,

Indian Abacus” Addition Subtraction
Values for Slider Positions Add 90 Answer 90 Less 90 Answer 0

Value 50 <

Upper |
:] * siider | 1[

-
-

[Com
Value 10 < X
Value 10+ 1
Value 10«

Value 10 <
10th Columne

___________

-«

Lower |
* sliders | I

tdet I
te¢e I

-
-«
-«

Addition

Move upper and 4 lower sliders together towards the bar using left hand middle and index fingers together in the 10th
column as shown in the picture.
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Indian Abacus

Subtraction

Move upper and 4 lower sliders together away from the bar using left hand middle and index fingers together in the 10th
column as shown in the picture.90.

When the slider/s moves away from the bar it loses its value, it is for Minus (-) operation.

The 11th column on the left side gets increased with ten times more value. The upper slider represents the value as
Five Hundred (500) of this column and the lower slider represents the value as One Hundred (100) each. The slider
moved towards the bar on this column gets increased by the value as ten times more, example

Indian Abacus Addition Subtraction

Add 100 Answer 100 ne' +}
Values for Slider Positions n dodae! Less 100 Answer 0

- Uppear

e =~ o .

Lower
»
sliders

Value 500«

Value 100 «
Value 100«
Value 100«
Value 100+

111k Columne

tess I

Addition

Move a lower slider towards the bar using left hand index finger in the 11th column as shown in the picture.

Subtraction

Move a lower slider away from the bar using left hand index finger in the 11th column as shown in the picture.100,

pan s Addition Subtraction
Add 200 Ang 200 - e
Values for Slider Positions & newer + Less 200 Answer 0

Upper
Value 500 « § T
Value 100 «

Lower
sidlers

Value 100 <

Value 100 <

tsss I
r

Value 100 <

11th Columne

Addition

Move 2 lower sliders together towards the bar using left hand index finger in the 11th column as shown in the picture.
Subtraction

Move 2 lower sliders together away from the bar using left hand index finger in the 11th column as shown in the
picture.200,
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Indian Abacus

Indian Abacus Addition Subtraction

Add 300 Answer 3 "
Values for Slider Positions Answer 300 Less 300 Angwer 0

Upper
Valua 500 « ] . "C{
"

Value 100 < (] I
|  Lower ’
[* siders ‘

Value 100«

tee
e

e

¢4

Value 100 «
Value 100 ¢
11th Columne

tsss I

Addition

Move 3 lower sliders together towards the bar using left hand index finger in the 11th column as shown in the picture.

Subtraction

Move 3 lower sliders together away from the bar using left hand index finger in the 11th column as shown in the
picture.300,

Indian Abacus Addition Subtraction
Add 400 Answer 4(
Values for Slider Positions Angwer 400 Less 400 Answer 0
s £ Upper
Value 500 «+—% ] sficter ) = z :
'
1 © L4
Value 100 « =3
100 <« L I b l -
Value 100 ¢— owor
.:alu-‘ 100+ 49 * siders L @ -
ane 1O
< E=
Value 100« L4
11th Columne
Addition

Move 4 lower sliders together towards the bar using left hand index finger in the 11th column as shown in the picture.

Subtraction

Move 4 lower sliders together away from the bar using left hand index finger in the 11th column as shown in the
picture.400,

Indian Abacus Addition Subtraction
_— — Add 500 :
Values for Slider Positions A0 Less 500 Answer 0
Uppe '1 =S r -
Value 500+ % J* 5‘1:(‘.‘:6'" v ; . . A » .
. ~ P
/ -~
Value 100« = ’
Value 100« 4 R Lower
Value 100+ 4 siders
Valye 100« 4
11th Columne
Addition

Move upper slider together towards the bar using left hand middle finger in the 11th column as shown in the picture.
Subtraction

Move upper slider together away from the bar using left hand middle finger in the 11th column as shown in the
picture.500,
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Indian Abacus

Indian Abacus Addition Subtacticn
" Values for Stider Positions Add 600 Answer 500 Less 600 Answer 0

Upper l[ - F P
j shder ’ . . S . .
I - |Cw
Lower
* siders

Value 500«

Value 100«
Value 100 <
Value 100+
Value 100 <
11th Columne

tsees

Addition

Move upper and a lower slider together towards the bar using left hand middle and index fingers together in the 11th
column as shown in the picture.

Subtraction

Move upper and a lower slider together away from the bar using left hand middle and index fingers together in the 11th
column as shown in the picture.600,

Indian Abacus

Addition Subtraction
e B ¥
Values for Slider Positions R £nanciny Less 700 Answer 0
P =3 i
Value 500« % 7 \:‘,'g:’ :l[ . . Y r_ . .
w* L." =y
Value 100 « o
> L™
Value 100« “> i Lower
Value 100+ 4 siiders
Value 100 < =43
11th Columne
Addition

Move upper and 2 lower sliders together towards the bar using left hand middle and index fingers together in the 11th
column as shown in the picture.

Subtraction

Move upper and 2 lower sliders together away from the bar using left hand middle and index fingers together in the 11th
column as shown in the picture.700,

Addition Subtraction
****** = Add 800 Answer 800
Values for Stider Positions K Less 800 Answer 0
Value 500« % '} \fé:’ .lE v 7 IS : a
" - [
Value 100« -
Value 100 w L - 1 <«
/alue 100« ower
v o | -
Valye 100« 50 shiders L
Valye 100« 4
11th Columne
Addition

Move upper and 3 lower sliders together towards the bar using left hand middle and index fingers together in the 11th
column as shown in the picture.

Subtraction
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Indian Abacus

Move upper and 3 lower sliders together away from the bar using left hand middle and index fingers together in the 11th
column as shown in the picture.800,

Indian Abacus Addition Subtraction
Add 500 Answer 900 Less 900 Answer 0

e
|

Values for Slider Positions

— _ Upper l[

Vek e 200
Value 500 < L] e - .

Value 100 «

Lower
* siders

Value 100 <
Value 100+
Value 100 <

11th Columne

tecee I

LITEE
ceete

Addition

Move upper and 4 lower sliders together towards the bar using left hand middle and index fingers together in the 11th

column as shown in the picture.

Subtraction

Move upper and 4 lower sliders together away from the bar using left hand middle and index fingers together in the 11th
column as shown in the picture.900

When the slider/s moves away from the bar it loses its value, it is for Minus (-) operation.

The 12th column on the left side gets increased with ten times more value. The upper slider represents the value as
Five Thousand (5000) of this column and the lower slider represents the value as One Thousand (1000) each. The
slider moved towards the bar on this column gets increased by the value as ten times more, example

Indian Abacus Addition
Values for Slider Positions Add 1000 Answer 1000
- Upper |
Value 5000 <— _] - sl;mer'
Value 1000 <
Value 1000 <
Value 1000 <

Value 1000 <«
12th Column «

Lower
shders |

et -

Subtraction
Less 1000 Answer 0

,'lL-

Addition

Move a lower slider towards the bar using left hand index finger in the 12th column as shown in the picture.

Subtraction

Move a lower slider away from the bar using left hand index finger in the 12th column as shown in the picture.1000,
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Indian Abacus

Indian Abacus Addition
Values for Slider Positions Add 2000 Answer 2000
v e Upper
Value 5000 +— % L siider
s a . . . .
Value 1000 < A4 <
Volue 1000 «—— 4 , Lower YAl =
Value 1000 < = shiders ¢
Value 1000 +——@b
12th Column <
Subtraction
Less 2000 Answer 0
. . . -
/ -4
|-
Addition

Move 2 lower sliders together towards the bar using left hand index finger in the 12th column as shown in the picture.

Subtraction

Move 2 lower sliders together away from the bar using left hand index finger in the 12th column as shown in the
picture.2000,

Indian Abacus

Addition
Values for Slider Positions Add 3000 Answer 3000
Value 5000 +—— @ e e
s L) . . . .
Value 1000 < < ES=3
Volue 1000 «—— 4 , Lower =
Value 1000 <+ 4 sliders -
Value 1000 +——4ab
12th Column <
Subtraction
Less 3000 Answer 0
. . L -
. [ -
f =
_ -
Addition

Move 3 lower sliders together towards the bar using left hand index finger in the 12th column as shown in the picture.
Subtraction

Move 3 lower sliders together away from the bar using left hand index finger in the 12th column as shown in the
picture.3000,
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Indian Abacus

Indian Abacus Addition
Values for Slider Positions Add 4000 Answer 4000
Upp
Value 5000 +—— @ 1 ader
. . - . L .
Value 1000 < A4 <
Value 1000 +—— 4 Lower =
Value 1000 «— 4 sliders L=
Value 1000 +——@b | -
12th Column <
Subtraction
Less 4000 Answer 0
. . . -
w
=
o
e
Addition

Move 4 lower sliders together towards the bar using left hand index finger in the 12th column as shown in the picture.

Subtraction

Move 4 lower sliders together away from the bar using left hand index finger in the 12th column as shown in the
picture.4000,

Indian Abacus Addition
Values for Slider Positions Add 5000 Answer 5000
Value 5000 < 4% o o /,l[ -
s . -v’ - . - .
Value 1000 <+ 4 /
Value 1000 < -« , Lower
Value 1000 < 4 sliders
Value 1000 < «»
12th Column <
Subtraction
Less 5000 Answer 0
7/ « . . .
z
/U
Addition

Move upper slider towards the bar using left hand middle finger in the 12th column as shown in the picture.

Subtraction

Move upper slider away from the bar using left hand middle finger in the 12th column as shown in the picture.5000,
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Indian Abacus

Indian Abacus Addition
Values for Slider Positions Add 6000 Answer 6000
e % - Upper
Value 5000 % siider =
Value 1000 <+ 4 T[ -
Value 1000 « A s Lower
Value 1000 <« 4 sliders
Value 1000 < «»
12th Column <
Subtraction
Less 6000 Answer 0
o
l[ £
Addition

Move upper and a lower slider together towards the bar using left hand middle and index fingers together in the 12th
column as shown in the picture.

Subtraction

Move upper and a lower slider together away from the bar using left hand middle and index fingers together in the 12th
column as shown in the picture.6000,

Indian Abacus Addition

Values for Slider Positions Add 7000 Answer 7000

Upper
:] > slider

=
1 wr
Lower o=

* sliders

Value 5000 <

.
Value 1000 <
Value 1000 «
Value 1000 <
Value 1000 <
12th Column <

¢¢¢¢ -

Subtraction
Lass 7000 Answer 0

Addition

Move upper and 2 lower sliders together towards the bar using left hand middle and index fingers together in the 12th
column as shown in the picture.

Subtraction

Move upper and 2 lower sliders together away from the bar using left hand middle and index fingers together in the 12th
column as shown in the picture.7000,
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Indian Abacus

Indian Abacus Addition
Values for Slider Positions Add 8000 Answer 8000
Uppe
Value 5000 < 4% > sider lE i
Value 1000 < R4 =
Value 1000 < A4 . Lower -
Value 1000 < - sliders -
Value 1000 « -
12th Column «
Subtraction
Less 8000 Answer 0

Ee

i

Addition

Move upper and 3 lower sliders together towards the bar using left hand middle and index fingers together in the 12th
column as shown in the picture.

Subtraction

Move upper and 3 lower sliders together away from the bar using left hand middle and index fingers together in the 12th
column as shown in the picture.8000,

Indian Abacus Addition
Values for Slider Positions Add 9000 Answer 9000
ek s - Upper
alue 5000 <« :] slider i
Value 1000 < = -
Value 1000 < -« Lower -
* sliders T
Value 1000 <« 4 * =
Value 1000 < - L3
12th Column <
Subtraction
Less 9000 Answer 0
T[ =
-
oz
o
“xr
Addition

Move upper and 4 lower sliders together towards the bar using left hand middle and index fingers together in the 12th
column as shown in the picture.

Subtraction

Move upper and 4 lower sliders together away from the bar using left hand middle and index fingers together in the 12th
column as shown in the picture.9000

When the slider/s moves away from the bar it loses its value, it is for Minus (-) operation.
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5.

Indian Abacus

The 13th column on the left side gets increased with ten times more value. The upper slider represents the value as
Fifty Thousand (50000) of this column and the lower slider represents the value as Ten Thousand (10000) each. The
slider moved towards the bar on this column gets increased by the value as ten times more, example

Indian Abacus” Addition
Values for Slider Positions Add 10000 Answer 10000

Value 50000« 4% B : . - X
. . TE ey

Value 10000« =4

Value 10000« - Lower

Vaiue 10000+— 4 shdors

Vaue 10000« Qe

13th Column « Subtraction

Less 10000 Answer 0

/ |Cw

Addition

Move a lower slider towards the bar using left hand index finger in the 13th column as shown in the picture.

Subtraction

Move a lower slider away from the bar using left hand index finger in the 13th column as shown in the picture.10000,

Indian Abacus” Addition

Values for Slider Positions Add 20000 Answer 20000

Value 50000«

Value 10000«
Vaue 10000«
Value 10000«

Vaue 10000«

Lower

shiders

tsee )

13th Column i
3th Column « Subtraction
Less 20000 Answer 0

l[u

Addition

Move 2 lower sliders together towards the bar using left hand index finger in the 13th column as shown in the picture.

Subtraction

Move 2 lower sliders together away from the bar using left hand index finger in the 13th column as shown in the
picture.20000,
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Indian Abacus

Indian Abacus” Addition

Values for Slider Positions Add 30000 Answer 30000

. Upper . . . .
B, shder

. . [
Lower

shders

Value 50000«

Value 10000«
Value 10000«
Value 10000«
Vae 10000e—
13th Column «

Subtraction
Less 30000 Answer 0

Addition

Move 3 lower sliders together towards the bar using left hand index finger in the 13th column as shown in the picture.
Subtraction

Move 3 lower sliders together away from the bar using left hand index finger in the 13th column as shown in the
picture.30000,

Indian Abacus Addition

Values for Slider Positions Add 40000 Answer 40000

Value 50000+ 4% I ‘.{,‘:;T: o 9 3 =
. -

Value 10000 +—— 4up T

Value 10000« s Lower 4

Vale 10000+— 4 aainaa ’

Vakie 10000¢+— @

13th Columin ¢——

tece

Subtraction
Less 40000 Answer 0

teee

Addition

Move 4 lower sliders together towards the bar using left hand index finger in the 13th column as shown in the picture.
Subtraction

Move 4 lower sliders together away from the bar using left hand index finger in the 13th column as shown in the
picture.40000,
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Indian Abacus”

Values for Slider Positions

/1 £l
Uppes

Valye 50000« 4 [Y-* e &
Value 10000+ =4

Value 10000« L3 Lower

Vaiue 10000« — 4 powe

Value 10000« R

13th Column «

-

<
/

Addition

Indian Abacus

Addition

Add 50000 Answer 50000

Subtraction
Less S0000 Answer 0

Move upper slider towards the bar using left hand middle finger in the 13th column as shown in the picture.

Subtraction

Move upper slider away from the bar using left hand middle finger in the 13th column as shown in the picture.50000,

Indian Abacus”

Values for Slider Positions

U T
Value 50000+ [T-o otder . TE
Value 10000«
Value 10000«
Value 10000«
Value 10000«

13th Column «

Lower
sliders

tscse I

Addition

Addition

Add 80000 Answer 60000

Subtraction
Less 60000 Arswer 0

Move upper and a lower slider together towards the bar using left hand middle and index fingers together in the 13th

column as shown in the picture.

Subtraction

Move upper and a lower slider together away from the bar using left hand middle and index fingers together in the 13th

column as shown in the picture.60000,
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Indian Abacus

Indian Abacus” Addition

Values for Slider Positions Add 70000 Answer70000

:] Upper - . . . .

Value 50000« * shder

Value 10000«
Value 10000«
Value 10000«

Value 10000«

Lower
sliders

ts¢e¢ I

13th Colurmn «

Subtraction
Less 70000 Arswer 0

s

1
'l

Addition

Move upper and 2 lower sliders together towards the bar using left hand middle and index fingers together in the 13th
column as shown in the picture.

Subtraction

Move upper and 2 lower sliders together away from the bar using left hand middle and index fingers together in the 13th
column as shown in the picture.70000,

Indian Abacus” Addition
Values for Slider Positions Add 80000 Answer 80000
It -

Value 50000« 4 o s y . . .
. . T -

Value 10000« < -3

Value 10000« o Lower L4

Vaiue 10000« 4 siders

Value 10000« g

13th Column «

Subtraction
Less 80000 Arswer 0

Addition

Move upper and 3 lower sliders together towards the bar using left hand middle and index fingers together in the 13th
column as shown in the picture.

Subtraction

Move upper and 3 lower sliders together away from the bar using left hand middle and index fingers together in the 13th
column as shown in the picture.80000,
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Indian Abacus

Indian Abacus” Addition

Values for Slider Positions Add 90000 Answer 50000

:] Upper - . .

Value 50000+ L

Value 10000«
Value 10000«
Value 10000«

Value 10000«

Lower
sliders

t¢s¢e D
teee I

13th Column «

Subtraction
Less 50000 Arswer 0

te¢ee 9

Addition

Move upper and 4 lower sliders together towards the bar using left hand middle and index fingers together in the 13th
column as shown in the picture.

Subtraction
Move upper and 4 lower sliders together away from the bar using left hand middle and index fingers together in the 13th
column as shown in the picture.90000

When the slider/s moves away from the bar it loses its value, it is for Minus (-) operation.

The 14th column on the left side gets increased with ten times more value. The upper slider represents the value as
Five Lakhs (500000) of this column and the lower slider represents the value as one lakh (100000) each. The slider
moved towards the bar on this column gets increased by the value as ten times more, example

Indian Abacus S
Values for Slider Positions Add 100000 Arswer 100000
Value 500000 +— % e L‘;“r’ T . . . -
. . ' [ P

Value 100000 < >
Value 10 - - Lower
Value 10 w0 shaers
Value 100000 < =4
14 Column <
Subtraction
Loss 100000 Answer 0
' . . .
' ”- «
Addition

Move a lower slider towards the bar using left hand index finger in the 14th column as shown in the picture.
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Indian Abacus

Subtraction
Move a lower slider away from the bar using left hand index finger in the 14th column as shown in the picture.100000,

Indian Abacus Addition
Values for Slider Positions Add 200000 Arswer 200000
s L . Upper . . . .
Vaslue 500000 « - J * sider
: " T[ -
Value 100000 «— & -
Vialue 100000 < o Lower
Value 100000 +— 4 \coachd
Value 100000 «— %
14th Column <
Subtraction
Less 200000 Answer 0

Addition

Move 2 lower sliders together towards the bar using left hand index finger in the 14th column as shown in the picture.

Subtraction
Move 2 lower sliders together away from the bar using left hand index finger in the 14th column as shown in the
picture.200000,

Indian Abacus Addition
Values for Slider Positions Add 300000 Asswer 300000
L . Upper . . . .
Value 500000 < 9 > sider
= . o
Value 100000 «— 4 T -
Vitlue 100000 +—— b Lower 4 U
Valye 100000 = < shders

Value 100000 «— 4
14th Column <

Subtraction
Less 300000 Answer 0

Addition

Move 3 lower sliders together towards the bar using left hand index finger in the 14th column as shown in the picture.

Subtraction
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Indian Abacus

Move 3 lower sliders together away from the bar using left hand index finger in the 14th column as shown in the
picture.300000,

Indian Abacus” Addition

Values for Slider Positions Add 400000 Asswer 400000

Vislue 500000 < #% e L;' . - E -
& 8 £
Value 100000 +— 4 T o
Value 100000 < o Lower -
Value 100000 = o siiders P
Value 100000 «— @
14th Column <
Subtraction
Less 400000 Answer 0
. . 3 <

teee

Addition

Move 4 lower sliders together towards the bar using left hand index finger in the 14th column as shown in the picture.

Subtraction
Move 4 lower sliders together away from the bar using left hand index finger in the 14th column as shown in the
picture.400000,

Indian Abacus FAESE,
Values for Slider Positions Add 500000 Answer 500000
'1[ -
Jpp A . .
Value 500000 « - :] . ':‘;";’:r’ ~ . .
Value 100000 < @
Value 100000 < oz Lower
Value 100000 < @ shders
Value 100000 « o
14th Column <
Subtraction
Less S00000 Answer
/'I[: =
,4 . .

Addition

Move upper slider towards the bar using left hand middle finger in the 14th column as shown in the picture.

Subtraction

Move upper slider away from the bar using left hand middle finger in the 14th column as shown in the picture.500000,
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Indian Abacus

Indian Abacus Addition
Values for Slider Positions Adid 600000 Answer 600000
IC -
Value 500000 +—— 4 o i " 3 : :
. * 3 @
Value 100000 < @ T
Value 100000 « oz Lower
Value 100000 «——| 4 sicors
Value 100000 « =
14th Column <
Subtraction
Less 600000 Answer 0
Lo
[Cw

Addition

Move upper and a lower slider together towards the bar using left hand middle and index fingers together in the 14th
column as shown in the picture.

Subtraction

Move upper and a lower slider together away from the bar using left hand middle and index fingers together in the 14th
column as shown in the picture.600000,

Indian Abacus Addition
Values for Slider Positions Add 700000 Answer: 700000
IC i
P A Upper . . . .
Value 500000 « - shcder

Value 100000 <
Value 100000 «
Value 100000 <

Value 100000 «

—
—
¢

:] >
.
Lower
* siders

14th Column <

Subtraction
Less 700000 Answer 0

o

L

Addition

Move upper and 2 lower sliders together towards the bar using left hand middle and index fingers together in the 14th
column as shown in the picture.

Subtraction

Move upper and 2 lower sliders together away from the bar using left hand middle and index fingers together in the 14th
column as shown in the picture.700000,
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Indian Abacus

Indian Abacus Addition
Values for Slider Positions Add 800000 Answer 800000
IC -
Value 500000 +—— 4 B i
. - =
Value 100000 «—— 4 T =
Value 100000 « o Lower -
Value 100000 < 4@ shders
Value 100000 « =
14th Column <
Subtraction
Less 500000 Answer 0
Lo
[
p
o

Addition

Move upper and 3 lower sliders together towards the bar using left hand middle and index fingers together in the 14th
column as shown in the picture.

Subtraction

Move upper and 3 lower sliders together away from the bar using left hand middle and index fingers together in the 14th
column as shown in the picture.800000,

Indian Abacus Addition
Values for Slider Positions Add 500000 Answer 900000
Ic -
Value 500000 «—| 48 > sitec - 2 2 : g
. . - =
Value 100000 <« 4 T =
Value 100000 < oz " Lower -
Value 100000 «— 48 sicers -
Value 100000 « o

14th Column <

Subtraction
Less 900000 Answer 0

tece I

Addition

Move upper and 4 lower sliders together towards the bar using left hand middle and index fingers together in the 14th
column as shown in the picture.

Subtraction

Move upper and 4 lower sliders together away from the bar using left hand middle and index fingers together in the 14th
column as shown in the picture.900000
When the slider/s moves away from the bar it loses its value, it is for Minus (-) operation.
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Indian Abacus

7. The 15th column on the left side gets increased with ten times more value. The upper slider represents the value as
Fifty Lakhs (5000000) of this column and the lower slider represents the value as Ten lakhs (1000000) each. The slider
moved towards the bar on this column gets increased by the value as ten times more, example

Indian Abacus Addition
Values for Slider Positions Adcd 1000000 Answer 1000000
SRS -, Upper
Value 5000000« o | J-* chider . . . . . N
. . . ; T— o
Value 1000000¢— 4 i
Value 1000000« w
Viakue 1000000« L
Value 1000000«— %

15th Column

Subtraction
Less 1000000 Asrswer 0

Addition

Move a lower slider towards the bar using left hand index finger in the 15th column as shown in the picture.

Subtraction

Move a lower slider away from the bar using left hand index finger in the 15th column as shown in the picture.1000000,

Indian Abacus Addition
Values for Slider Positions Adcd 2000000 Answer 2000000
L e
Value 5000000« o _} &.'I;_? . . . N . .
x . =i T» o
Rea) | Lower
I* sdocs
. 1 s
< . 3|
15th Column <
Subtraction
Less 2000000 Answee 0
e
L -
Addition

Move 2 lower sliders together towards the bar using left hand index finger in the 15th column as shown in the picture.
Subtraction

Move 2 lower sliders together away from the bar using left hand index finger in the 15th column as shown in the
picture.2000000,
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Indian Abacus

Indian Abacus”

Addition

Values for Slider Positions Add 3000000 Answer 3000000

2 Uppe
Value 5000000« | #% T} slider . . . N . .

. . o - o
Value 1000000 < T ey
Viaiue 1000000« o Lower L -+
Vakie 1000000« 4 siders
Value 1000000«— @
15th Column <
Subtraction
Less 3000000 Arswee 0

Addition

Move 3 lower sliders together towards the bar using left hand index finger in the 15th column as shown in the picture.
Subtraction

Move 3 lower sliders together away from the bar using left hand index finger in the 15th column as shown in the
picture.3000000,

Indian Abacus”

Addition
Values for Slider Positions Add 4000000 Answer 4000000
& Uppet
Value 5000000« o :} * ciider . . . . . N
. . . N r @
Value 1000000« L4 T oS
Vialue 1000000« o« Lower -
. o~ siders
Value 1000000« 4 L -
Vakue 1000000«— @
15th Column <
Subtraction
Less 4000000 Asswee 0
. . . . . .
k3
|| -
L
=

Addition

Move 4 lower sliders together towards the bar using left hand index finger in the 15th column as shown in the picture.
Subtraction

Move 4 lower sliders together away from the bar using left hand index finger in the 15th column as shown in the
picture.4000000,
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Indian Abacus

Indian Abacus Addition
Values for Slider Positions Add 5000000 Answet 5000000
/’L" @t
Uooe i

Vailue 5000000« | ¢ ] » ‘;":;': & . . . . . .

- |

o Lower

[*s sders

. ‘ se

Valoe 1000000« o
15th Column «
Subtraction
Less 5000000 Arswer 0

o=

O

Addition

Move upper slider towards the bar using left hand middle finger in the 15th column as shown in the picture.

Subtraction

Move upper slider away from the bar using left hand middle finger in the 15th column as shown in the picture.5000000,

Indian Abacus™ Addition
Values for Slider Positions Add 6000000 Answer 6000000
i C P
Vaive 5000000« | [} cher 1 . . ‘ ’ 5 ‘
. . . i .
- ’ I
-« Lower
pey ‘i ” shders
- -

15th Column <

Subtraction
Less 6000000 Arswer 0

1

]
¢ -t

—— b

Addition

Move upper and a lower slider together towards the bar using left hand middle and index fingers together in the 15th
column as shown in the picture.

Subtraction

Move upper and a lower slider together away from the bar using left hand middle and index fingers together in the 15th
column as shown in the picture.6000000,
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Indian Abacus

Indian Abacus”

Addition
Values for Slider Positions Add 7000000 Answer 7000000
e 1: P
o~ ] > h;; = N . M . . .
. . il o o
bt ’ T P
-« Lower
R
a ‘ shders
. —_—
15th Column «
Subtraction
Less 7000000 Arswer 0
[Cw
1 w5
-

Addition

Move upper and 2 lower sliders together towards the bar using left hand middle and index fingers together in the 15th
column as shown in the picture.

Subtraction

Move upper and 2 lower sliders together away from the bar using left hand middle and index fingers together in the 15th
column as shown in the picture.7000000,

'ndlan Abacus Addition
Values for Slider Positions Add 8000000 Answer: 8000000
s I o
Vaive 5000000« | $% T}* siider ¥ B . . . .
. . . | . g .
- ’ T P
o | _ Lower o
ar ‘F ” shders 1
Valoe 10 L4 8

15th Column <

Subtraction
Less 8000000 Answer 0

Addition

Move upper and 3 lower sliders together towards the bar using left hand middle and index fingers together in the 15th
column as shown in the picture.

Subtraction

Move upper and 3 lower sliders together away from the bar using left hand middle and index fingers together in the 15th
column as shown in the picture.8000000,
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Indian Abacus

Indian Abacus Addition
Values for Slider Positions Add 8000000 Answer 5000000
Ic -
o j > = N . . . N
. . . .
@ T e
- Lower .
a shders -
- -t
15th Column <
Subtraction
Less 9000000 Asswer 0
[Cw
g
<
L o
iz
Addition

Move upper and 4 lower sliders together towards the bar using left hand middle and index fingers together in the 15th
column as shown in the picture.

Subtraction
Move upper and 4 lower sliders together away from the bar using left hand middle and index fingers together in the 15th
column as shown in the picture.9000000.

When the slider/s moves away from the bar it loses its value, it is for Minus (-) operation.

The 16th column on the left side gets increased with ten times more value. The upper slider represents the value as
Five Crores (50000000) of this column and the lower slider represents the value as one crore (10000000) each. The
slider moved towards the bar on this column gets increased by the value as ten times more, example

H Alharic
Indian Abacus Addition
Values for Slider Positions Akt 10000000 Answar 10000000
) . - }- ‘_ 5 " .
: <
.- -
.- - -
P
) - -
Subtraction
Less 10000000 Asewer 0

Addition

Move a lower slider towards the bar using left hand index finger in the 16th column as shown in the picture.

Subtraction

Move a lower slider away from the bar using left hand index finger in the 16th column as shown in the picture.10000000,
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Indian Abacus

H Ahars e
Indian Abacus Addition
Values for Slider Positions Ak 20000000 Answer 20000000
X00000 +-{ € e Vo : : . - : -
% T P
- oL =3
o we
.
-
e
» -
Subtraction
Lass 20000000 Arswer O

Addition

Move 2 lower sliders together towards the bar using left hand index finger in the 16th column as shown in the picture.

Subtraction

Move 2 lower sliders together away from the bar using left hand index finger in the 16th column as shown in the
picture.20000000,

Indian Abacus Addlfion
Values for Slider Positions A3 30000000 Answer 30000000
T
. - > .
T g
=
o
- o Lows ar
-
<
Subtraction
Less 30000000 Arswer O

._
tee

Addition

Move 3 lower sliders together towards the bar using left hand index finger in the 16th column as shown in the picture.
Subtraction

Move 3 lower sliders together away from the bar using left hand index finger in the 16th column as shown in the
picture.30000000,
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Indian Abacus

Indian Abacus Addition
Values for Slider Positions Ak 40000000 Answer 40000000
. . . o

T £
- =3
- S a
- o

e

» -
Subtraction
Less 40000000 Arswer O

Addition

Move 4 lower sliders together towards the bar using left hand index finger in the 16th column as shown in the picture.

Subtraction

Move 4 lower sliders together away from the bar using left hand index finger in the 16th column as shown in the
picture.40000000,

Indian Abacus Addition
Values for Slider Positions At $0000000 e,
YOOX) « | N B opor ,i'
- - - -

@

= Lower

.
- o
<
Subtraction
Less 50000000 Arower 0

Addition

Move upper slider towards the bar using left hand middle finger in the 16th column as shown in the picture.

Subtraction

Move upper slider away from the bar using left hand middle finger in the 16th column as shown in the picture.50000000,
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Indian Abacus

Indian Abacus Addition
Values for Slider Positions A 2000020 Answer 80000000
: -
o 50500200 < | e» ). TOPE l
. n .
] >
< - 1
.« - Lower
®
«le
000000 =« | -
o«
Subtraction
Less B0000000 Arewor 0

G

Addition

Move upper and a lower slider together towards the bar using left hand middle and index fingers together in the 16th
column as shown in the picture.

Subtraction

Move upper and a lower slider together away from the bar using left hand middle and index fingers together in the 16th
column as shown in the picture.60000000,

Indian Abacus

Addition
Values for Slider Positions Ackd TOO00000 Answar 70000000
2 ~
000000 « | e B .l'
T =
- ] L ped
- Lower
S
ped
<«
Subtraction
Less 70000000 Arewer 0

Addition

Move upper and 2 lower sliders together towards the bar using left hand middle and index fingers together in the 16th
column as shown in the picture.

Subtraction

Move upper and 2 lower sliders together away from the bar using left hand middle and index fingers together in the 16th
column as shown in the picture.70000000,
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Indian Abacus

Indian Abacus Addition
Values for Slider Positions Adis BOO0000 Answar 80000000
: o~
o 50000 « | e ). TP .l'
T -
< - 1 ped
-« - e e wr
+ - e
000000 =« | -
o«
Subtraction
Less 20000000 Arewor 0

-——

Addition

Move upper and 3 lower sliders together towards the bar using left hand middle and index fingers together in the 16th
column as shown in the picture.

Subtraction

Move upper and 3 lower sliders together away from the bar using left hand middle and index fingers together in the 16th
column as shown in the picture.80000000,

Indian Abacus Fres
Values for Slider Positions k3 HO000000 Answar 90000000
~
00000 « | " .o PO ,l'
T w
@ ] et
- , Lowe e
ot =3
<«
Subtraction
Less 90000000 Arewer 0

Addition

Move upper and 4 lower sliders together towards the bar using left hand middle and index fingers together in the 16th
column as shown in the picture.

Subtraction

Move upper and 4 lower sliders together away from the bar using left hand middle and index fingers together in the 16th
column as shown in the picture.90000000.

When the slider/s moves away from the bar it loses its value, it is for Minus (-) operation.
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Indian Abacus

9. The 17th column on the left side gets increased with ten times more value. The upper slider represents the value as
Fifty Crore (500000000) of this column and the lower slider represents the value as Ten Crore (100000000) each. The
slider moved towards the bar on this column gets increased by the value as ten times more, example

Indian Abacus Addition

100000000

Values for Slider Positions Add

tess

Subtraction

Addition

Move a lower slider towards the bar using left hand index finger in the 17th column as shown in the picture.

Subtraction
Move a lower slider away from the bar using left hand index finger in the 17th column as shown in the

picture.100000000,

Indian Abacus Addition

Values for Slider Positions Add 200

s

Subtraction

Laas 200000000

Addition

Move 2 lower sliders together towards the bar using left hand index finger in the 17th column as shown in the picture.

Subtraction
Move 2 lower sliders together away from the bar using left hand index finger in the 17th column as shown in the

picture.200000000,
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Indian Abacus

Indian Abacus Addition
Values for Slider Positions Add 320000000
.- - e
' v
s 1 - T i
e 1 A owe
it et
™ . - i
1 "o
Subtraction
Liss 300000000 Arywer
1 3
-
=

Addition

Move 3 lower sliders together towards the bar using left hand index finger in the 17th column as shown in the picture.

Subtraction
Move 3 lower sliders together away from the bar using left hand index finger in the 17th column as shown in the
picture.300000000,
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Subtraction
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Addition

Move 4 lower sliders together towards the bar using left hand index finger in the 17th column as shown in the picture.

Subtraction
Move 4 lower sliders together away from the bar using left hand index finger in the 17th column as shown in the
picture.400000000,
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Addition

Move upper slider towards the bar using left hand middle finger in the 17th column as shown in the picture.

Subtraction

Move upper slider away from the bar using left hand middle finger in the 17th column as shown in the
picture.500000000,
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Addition

Move upper and a lower slider together towards the bar using left hand middle and index fingers together in the 17th
column as shown in the picture.

Subtraction

Move upper and a lower slider together away from the bar using left hand middle and index fingers together in the 17th
column as shown in the picture.600000000,
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Addition

Move upper and 2 lower sliders together towards the bar using left hand middle and index fingers together in the 17th
column as shown in the picture.

Subtraction

Move upper and 2 lower sliders together away from the bar using left hand middle and index fingers together in the 17th
column as shown in the picture.700000000,

Indian Abacus poro
Values for Slider Positions Add BOODDO00D Anvwer SI0000000
2! -
e N ) e -
| e
- | oo
- , Lowe g
=3 e
- —
Subtraction
Lass SO000000 Answer
T -
I o~
‘-
_ -

Addition

Move upper and 3 lower sliders together towards the bar using left hand middle and index fingers together in the 17th
column as shown in the picture.

Subtraction

Move upper and 3 lower sliders together away from the bar using left hand middle and index fingers together in the 17th
column as shown in the picture.800000000,
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Addition

Move upper and 4 lower sliders together towards the bar using left hand middle and index fingers together in the 17th
column as shown in the picture.

Subtraction

Move upper and 4 lower sliders together away from the bar using left hand middle and index fingers together in the 17th

column as shown in the picture.900000000.

When the slider/s moves away from the bar it loses its value, it is for Minus (-) operation.
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